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4. Given the series Z(

~n
) answer the following questions.
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a. List lhe first 6 terms of the series and the general term
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b. Use the l}_‘:zm Tea.l?.t‘t} determine the Interval ollu)m ergence of the series.
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c. Enter the first 6 terms into yi of your calculator. Use X[-xt]s and Y[-1,1] as your
window.
d. What function does it look like the series represents? That function is the sum of
this series.
e. What would happen to the graphs if the first 10 terms of the series are entered into
Y.
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Given the series Z(— 1) answer the following questions.
2 | -
=1 (2n+D!
List the first 6 terms of the series and the general term

2n+l

Use the Ratio Test to determine the Interval of Convergence of the series.

Enter the first 6 terms into y, of your calculator. Use X[-m.x], and Y[-1,1] as your
window.

What function does it look like the series represents? That function is the sum of
this series.

Take the derivative of

[ .\“"r—l N -_i i _ ._ ) x-!"‘.l e
;{_lr(zmnl_" i T a Qne) =
i n
__Z:)C -y (2aed) X7 il . 3_£L+ 5x_ e (Y Y
T L 3, S flnm'
n n 2 q
= " _ -
_ZCI‘\%\L - | %*-;:r L (- ,3: me

Take the anti-derivative of
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1. Find the first 4 | 3) {(x)= Sin(xz)

terms of the series ﬁ 9_“+1 U - O 2
2. Write the rule ( Zf = XX 4__1____"4__(-_11&
for theseries | F(x) = Sinx = (2av), T 30 5% fwf)
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